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3-2 Input File DN

OTEV Input  file 7 FECIZFET

Input
RUNNR 12
*EVINR 1
*NSHOW 1
*PRMPAR 14

*ERANGE 1.E6 1.E6

* THETAP 20. 20.

* PHIP -180. 180.

SEED 1 0 O

SEED 2 0 O

* OBSLEV 110.E2

FIXCHI 0.

MAGNET 20.0 4238
HADFLG 0 0 0 0 0 2
ECUTS 03 0.3 0.003 0.003
MUADDI T

MUMULT T

ELMFLG T T

STEPFC 1.0

RADNKG 200.E2

LONGI T 10. T T
ECTMAP 1.E4

MAXPRT 1

DIRECT ./

USER you

DEBUG F 6 F 1000000
EXIT

run number
number of first shower event
number of showers to generate
particle type of prim. particle
energy range of primary particle
range of zenith angle (degree)
range of azimuth angle (degree)
seed for 1. random number sequence
seed for 2. random number sequence
observation level (in cm)
starting altitude (g/cm**2)
magnetic field centr. Europe
flags hadr.interact.&fragmentation
energy cuts for particles
additional info for muons
muon multiple scattering angle
em. interaction flags (NKG,EGS)
mult. scattering step length fact.
outer radius for NKG lat.dens.distr.
longit.distr. & step size & fit & out
cut on gamma factor for printout
max. number of printed events
output directory
user
debug flag and log.unit for out
terminates input
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ERANGE & (3hiADEHSOT= XL X —DIETH Y . 10 15ev TR E LT,
THETAP L ZAST ki1 & 2zl O OAE (CKIEMA) 012H7=0 ., 20 FEIZ
RIE LT,

PHIP L3 AHT DR 7-& xHihE ORIOAIE ¢ 12H72 D | -180~180 JEIZFHE L
77,

OBSLEV & 38 OES D = & TH Y, 110m (T E LTz,

HT (FER)

Particle ID &

Particle($IF %)
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Fort.7 \2W 727 —ZIZLL T D X Y IZEH TR IND,

B, I EWN DTG OEAT T2 720, EBRIIEE 70T — 2 )3

FET 5,
5.53100E+03  -1.03814E+01 6.60524E-01 2.70060E+01 -4.96633E+04 3.31609E+03 8.42724E+04
7.65310E+04  -2.30723E+01 2.04295E+00 6.24492E+01 7.86502E+05 -6.34608E+04 2.17937E+06
6.53100E+03  -2.18950E+01 2.25325E+00 5.95433E+01 -1.34657E+04 1.17421E+04 8.38544E+04
7.65510E+04  -4.59461E+00 1.99518E-01 1.27945E+01 4.33445E+05 -3.61116E+04 1.20475E+06
6.55100E+03  -3.86128E+00 1.52886E-01 1.05621E+01 3.51444E+03 -1.36726E+04 8.36400E+04
7.55510E+04  -2.00510E+01 1.82139E+00 5.51431E+01 4.41051E+05 -3.53648E+04 1.22664E+06
5.55100E+03  -1.91375E+01 1.64143E+00 5.26950E+01 -8.09365E+02 2.89992E+03 8.37003E+04

— X DR
5.53100E+03  :1.03814E+01  6.60524E-01 -— 3.31609E+03 8.42724E+04

I RZH T T2 D—F LD 14T THDH, 11T, THODT—X
WTHDHDNDIND,

ERNE

1 5B oM TR L3 5531

Z DE A 1000 TE| - 72 BEG oy D3k OFiFE A 323 Particle ID Th 5, £ 7=, Particle
ID Z = 10 THI - 72BEE DA RK P TR FAEZRE LB TH S, £ LT, mEITHE
STEENEEEZFRL TS, LoT, 5531 [EREE 1 TH3EIEE LD 2 —F &
B D,

2 B H DRk T L7z 3258
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3 ¥ B DK TR LT3k
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4 5 H DA TaR LT3
>z 77 [ D 1HEE) &

5 ¥ B DR TR L7235k
>x J5 17 O FEEfE(cm)

6 ¥ H O TR L7235k
>y J7m O i (ecm)
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> IRF
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6 EERICHW-7ua s T A

F— BT OB W72 75 A0 Y — R « a— RELDTICEEHT A,

6-1 LFEHDT a7 T A
program internal_file

implicit none

real*4 a

character(4) s
equivalence(a,s)

s ='RUNH'
print* 's="s,
print*, "a=",a

S='EVTH'
print* 's=""s,
print*, "a=",a

s ='LONG'
print* 's=""s,
print*, "a=",a

s='EVTE'
print*, 's=""s,
print *, "a =", a

s =RUNE'

print*,'s=""s,

print *, "a =", a
end program internal_file
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6-2 7 —Z DT e 7T A
#include <stdio.h>
#include <stdlib.h>

#define NUMPAT 10000000

struct PARTICL{
int id, hadGen, level;
float px, py, pz;
float x, y;
float t;
I3
struct PARTICL Partic[ NUMPAT];
int NumPart;
int main(void)
{
intn;
char buf[1024];
double 0, f1, f2, f3, f4, 15, 6;
int fflag;
int itmp;

fgets(buf, 1024, stdin);

NumPart=0;
fflag=0;
while(1){

for(n=0; n<39; n++){
if( fgets(buf, 1024, stdin)==NULL){
fflag=1,
break;
}
if(sscanf(buf,"%le %le %le %le %le %le %le¥n",
&f10,&f1,&f2,&f3,&F4,&15,&16) 1= 7){

16



fprintf(stderr,"error 1¥n");

exit(1);
}
/**
if(fl == 1.0)
printf("%d %s¥n", NumPart, buf);
**/
itmp = (int)f0;

Particl[NumPart].id = itmp/1000;

itmp = itmp - Particl[NumPart].id;
Particl[NumPart].hadGen = itmp/10;
Particl[NumPart].level = itmp-Partic[NumPart].hadGen;

Particl[NumPart].px = (float)f1;
Particl[NumPart].py = (float)f2;
Particl[NumPart].pz = (float)f3;
Particl[NumPart].x = (float)f4;
Particl[NumPart].y = (float)f5;
Particl[NumPart].t = (float)f6;
NumPart++;

if(NumPart>=291798){

fflag=1; break;

printf("%d %s¥n", NumPart, buf);
}

b
if(fflag!=0) break;

/****************************************************************/

[[for(n=0; n<NumPart; n++){
for(n=0; n<NumPart; n++){

/**
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if(n%39==0)
printf("%f %f¥n" Particl[n].x, Particl[n].y);
**/
/lif(Particl[n].id == 75 || Particl[n].id == 76)
if(Particl[n].id == 75 || Particl[n].id == 76) continue;
printf("%d %d %d %f %f¥n",n, %39, Particl[n].id, Particl[n].x, Particl[n].y);

6-3 CORSIKAread 7' 1 77 A

C ——=====——===—===== —================—————==—=========
C

C corsikaread.f (without THINNING)

C

C READ AND PRINT CORSIKA SHOWER DATA
C

C f77 -fbounds-check corsikaread.f -o corsikaread

C gfortran -fbounds-check corsikaread.f -0 corsikaread

C Output format for particle output (blocklength = 22932+8 fixed)

C each block consists of 21 subblocks of 273 words.
(S

C compilation:

C gfortran -fbounds-check corsikaread.f -o corsikaread

C f77 -fbounds-check -m32 corsikaread.f -0 corsikaread

C ifort -C corsikaread.f -0 corsikaread
(S

C How to use this program:

C 1) Generate a file 'input’ containing the path and name of the

C DATnnnnnn file to be analyzed by this program.

18



The name should not contain leading blanks but filled up
by trailing blanks to get a total length of >70 characters.

2) Execute this program with the file 'input’ as standard input:

Jcorsikaread <input >output

3) The file 'output’ will contain a short overview of the
content of the DATnnnnnn file to be analyzed.

4) The file fort.7 will contain a detailed print out of the
content of DATnnnnnn.

OO0 0O000000O0

PROGRAM CORSIKAREAD

CHARACTER CHV/(5733)*4,CIDENT*4,CDAT*70,CBLK*70
DIMENSION PDATA(5733)

EQUIVALENCE (CHV(1),PDATA(L))

COMMON /CHARS/CHV,CDAT,CBLK,CIDENT

CBLK=' !
CDAT=CBLK

IREC=0

C--READ FILE NAME -~ o e oo oo
READ(*,428, END=440,ERR=439) CDAT
428 FORMAT(A)
429 CONTINUE
WRITE(*,430) CDAT
430 FORMAT(1H ,/READ DATAFROM FILE ="A)
OPEN(UNIT=3,FILE=CDAT,STATUS="OLD',FORM="UNFORMATTED)
------ read data records with 5733 words - - - -
431 CONTINUE
IREC=IREC +1
READ(UNIT=3,ERR=434,END=433) PDATA
if (mod(irec,100) .eq. 0)
+  WRITE(**)' HAVE READ RECORD NR.,IREC
C--mmmmmmmm- loop over subblocks----------------- mmmmmmmeeees
DO LIA=1,5733,273

19



CIDENT(L:1) = CHV(LIA)(L:1)
CIDENT(2:2) = CHV(LIA)(2:2)
CIDENT(3:3) = CHV(LIA)(3:3)
CIDENT(4:4) = CHV(LIA)(4:4)
IF (PDATA(LIA).GE.211284.0.AND.

+ PDATA(LIA).LE.211286.0) THEN
CIDENT = 'RUNH'
WRITE(*,*)RUNH'

ENDIF
IF (PDATA(LIA).GE.217432.0.AND.

+ PDATA(LIA).LE.217434.0) THEN
CIDENT = 'EVTH!
WRITE(*,*)EVTH'

ENDIF
IF (PDATA(LIA).GE. 52814.0.AND.

+ PDATA(LIA).LE. 52816.0) THEN
CIDENT = 'LONG'
WRITE(*,*)'LONG'

ENDIF
IF (PDATA(LIA).GE. 3396.0.AND.
+ PDATA(LIA).LE. 3398.0) THEN

CIDENT ="EVTE'
WRITE(*,*)EVTE'

ENDIF
IF (PDATA(LIA).GE. 3300.0.AND.
+ PDATA(LIA).LE. 3302.0) THEN

CIDENT ="'RUNE'
WRITE(*,*)'RUNE'
ENDIF

IF (CIDENT.EQ.'"RUNH'.OR. CIDENT.EQ.'/RUNE' .OR.
CIDENT.EQ.'LONG' .OR. CIDENT.EQ.'EVTH'.OR.
CIDENT.EQ.'EVTE') THEN

+

CHV/(LIA) = CIDENT
IF ( CIDENT .EQ. 'RUNH') THEN
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| PDATA(LIA) = 11111111,
DO  IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)
ENDDO
ELSEIF ( CIDENT .EQ. 'EVTH') THEN

----subblock event header--------------- -- -

| PDATA(LIA) = 33333333.

DO  IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)

ENDDO

----subblock longitudinal data------------------------

ELSEIF ( CIDENT .EQ. 'LONG') THEN
| PDATA(LIA) = 55555555.
DO  IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)
ENDDO

ELSEIF ( CIDENT .EQ. 'EVTE') THEN
| PDATA(LIA) = 77777777.
DO IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)
ENDDO

ELSEIF ( CIDENT .EQ. 'RUNE') THEN
| PDATA(LIA) = 99999999.
DO IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)
ENDDO
GOTO 929
ENDIF

ELSE

DO  IL=LIA,LIA+272,7
WRITE(7,'(1P,7E13.5)) (PDATA(II+IL),11=0,6)
ENDDO

ENDIF

21



ENDDO
929 CONTINUE
GOTO 431

O =1 N[0 ] =l =1 S —
433 CONTINUE
WRITE(*,*) LAST RECORD ',irec-1
CLOSE(UNIT=3)
STOP
434 CONTINUE
WRITE(*,*) READ ERROR ON UNIT 3'
* CLOSE(UNIT=3)
GOTO 431
439 CONTINUE
WRITE(*,*) READ ERROR ON STANDARD INPUT'
GOTO 429
440 CONTINUE
WRITE(*,*) READ END ON STANDARD INPUT!
STOP
END

22
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235 3CHR

http://www.cfca.nao.ac.jp/~takhshhr/plasma file/201302080shima.pdf#fsearc
h="%E7%A9%BA%E6%B0%97%E3%82%B7%E3%83%A3%E3%83%AF% K3
%83%BC'

http://corsair.ff.bg.ac.rs/ CORSIKA GUIDEG69xx.pdf#fsearch="CORSIKA+user
stguide'
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